CIRCUIT DIAGRAM FOR COBRA 87GTL

ey o
B 1 « )
! : w 2B
@
1 3 8 .8
| =z 2 ws 2
) 2 Zoh, O
2 = 27 w2
[} 3 c5 oF €3 .
I T 2N 2§ 2
3 agE = % Su
wr w MT >
‘ | YEa ¥ %o5d,
| 43¢ 9g wd S
= 8 o 5§
‘ | Qun OF Blig R
S0z oG 370 9W
b £= Q0 Iz ok
' 23 Py E558Ee
! SEs b Daf 8k
| wiI §, 885 baw
$56 3w 83 okl
1 00 o2 ZTL REZ
o 5% fag &bz
' & go3 P2 Ebo a3
. wz Bk Goz Ok
1 oS By 983
oy BE Shu 4T
] HwzZye We 42a LCO
= o OEC A
: ! e W oW ¢

e T

|06 3
4/
! 89000]209. mm -,
l:— = Q
w_ N
7]
=8
nl 5% S S X . .
i .
S :
e .
» L r Y 4 - 4 e, < | - & W
g PO O e OO — e —-————
558 4_ F i
bt N
HER | n -
H R Sgx | ssoon' ex3 o 2 !
wl| & 28y |V o | - N
S g © 2 | H
! Ly ox 1 o 9 \ 3
¢ S .
1 A | 3] ) ‘o
i 8 1 o @ 2
H B x| x s & i N« 1+ !
als n2 — t
! v SEOY |0 3 5 8 !
| ol 3 v [ o2 | 3 8 8 .
65Y " [ ~
) 2le - | 2N S = '
] 2 o 1 5 u |8
@ H
! ¢ ” 3 ! 13 [
X s T < I . S 3 i
Axt S «
[ SV B s ¢ g 8 i
| Trafzes® 5 N = H
booe 2 o ]
" za = | |
1
[} 3 I
| 1% =3 '
-3 d/10°0 ow.
- o 8%
'8
[ ~ - 52
o] I 3| o &
~ o~ zf
© 5 e [ O B e e iaier Wy
2 = P I A Bt 7
] @ 3
i~ o~ N 1
= © a 2 [
© ©% H
o ~mn Zo
- o ~ ®»
2 TR I Fvaem - [ R «g !
G El el % 9 © C % e3 !
2 wl szez00 AL8 L ryooor, & + - a 3 |
@ g 8 ShEES 1701801 023 . N ow© \
N s “dwm—t > - 43 S |
© % ey 16 s | Toome @ 13 o 1
88 H—F § S @
[ jasriva w sl 7 o
& e =2 e | =
asi00 [ 5 io m mz
o k< P % @« 00z SeY >
i z7 - ~ b gty B g
- & A0l gz o] "2] e S
J 3246500 123 . b ¥ H
i e 4y O1 0 [« az/es00. N o
[ TTMCE XL e s 1 3 + 0
(-4 =t H 3
1 “ A9 SIID
[
[ L
] (4
&
! + gy 001,
00l
| ICRCES [y
......... 920251 ¥20
! 11—+ 83
1 42/6800 513 B3
w
i W ie
I Mo/i 95 oly 1 I
[ s /A0 g oA Tn AR N AN A s e N Y IR i ot R . | g
. b3
1 3 ] "
[ 5 H
| & ™ E H
Q 1 2
[~ ? s o 873 _
[ & o g # —t !
! « o & .WM ol ieozx 120 \
@ -
1 & I3 [ s + oty
“ = ° - o 2 N
: H
[ H N
! N ol 2
@ — »d 2
' © 100 ' 165 g2 4
1 o Sy
i ] L
] O
! &
i - .
t x =
| B + 0
§ o H
! S 3
d
! a o g
b3 3 hoH
| 3
[ o SABS
t 5 .ﬂu W e
P 02 i
%] o & =
I = 3 Q 2
i F S ry ¢ o K53
= % 2
“ 5 3 awH ziod ¥11 8 B
< )
e A ! a
! 8 e
13 s -f . = x 1
> o
IR Fet 3 !
o «3 3 H
I @ 38 & ]
| N ? o g |
o 2 41—+ [E— 2
“ 3 o %z 5% oo 22 ° sacrzt 2 ofe shu m ¥ “
58 g H
t I e i 58 aonon™e 1S z P H 1
| -8t H = P Tyl P H ~ I
| 4% 3 i 2 ~ \
1 7 % . wass!l ey 3 N \
2 S 5] \
| wen L ve
| 2
1
|
=3
1 a
Z 2]
£l stozsi 10 T
ke o
= O
i @
1
~
$! x
Sl i
e RO ¢ VS g g g

. Vo 48

BLOCK DIAGRAM FOR COBRA 87GTL

10,695 MHz

RFATT ’
D3 D2 DI TR2 TR CF1 TR4
R Sk el ShEs - -
S S RF AMP Ist MIX 8.p.F.] ~={end Mix
'

-
i
[ ————— .

455 KH
CF2
B.P.F.

TRS TR6 TR7
[2nd IF AME 2nd IF AMP [2ndIF AMP|
D 4

+ 7 S DET °

|

|

|

|

i

1

1

1

1

|

i

|

|

|

1
Q0
mo

~

H
_. TR9 TR8
SQ AMP SQ AMP’

i

- ) 16725 thru_17,165MHz

MOD STABILIZER

]

m

TRII TRI2 !
DRIVER BUFFER !
AMP AMP B.P.F. ;
:

i

i

i

!

i

: D16
D, 16.270 thry_I6.7I0MHz _]___ . A Jrin g
; !
' Ic3 ! i
1 t .
; MiX !
!
L e |
- cwn - ||-l|l|||.T_AN ||||||||||||||||| e
X . TX RX TX RX
240MHz 8v 8y 13,8V 138V ——— SHOWS TX CIRCUIT
sv : } SHOWS RX CIRCUIT
_ . .
AC
- || -
D501
CH, DISPLAY )
TR ]
PI.T. TX/RX ms_.-.

TN e




BILL OF MATERIAL FOR COBRA 87GTL .

CIRCUIT
SYMBOL

1C1
1C-2,3
I1C-4

TR-3
TR4

. TR-16,17
TR-16
TR-1,8,9,13,19,203
TR-201
TR-18,202

D-6,7,11,16
O»

U d 2,3,15,17,. NA

D- _u 26

D- mo_.mcw.wou.wca
D-205

D-206

D-21

D-25 -
D601 -

D-14

L-1

L-17 .
L-10,16

L30

CIRCUIT
SYMBOL

R-48,65

R-73

R-52

R-6,74

R-16,65,83

R-63

R-26,72

R-45

R-107

R-20,501,502,503,504,
505,506,507,508,509,
610,511,512

R-7,17,19,96,100,106,132

R-66,79

R-10,14,18,53

R-25

R-35

R-15,67,91

R-4,23,101

R-9,54,62

R-601

/-3,13,34,37,56,70,76,88,
106

-R-2
R-5,33,71,75,77
R-602,12

C-1,37,67,89,136
Cc-36

C-134

C-115,2056

C74

C43
C-73,120,126
C-ti4121 -

C-22

CIRCUIT
SYMBOL

CF-1

CF-2

5501

§-304

$-601,602 -

SP-301
M-301

PL-301

—u 301, 302
TP-1,2,34,5,6

488-226-9-001

_Capacitor, Electroly

DESCRIPTION
SEMICONDUCTORS
Integrated Circuit, TA7222P, AF

Integrated Circuit,
Integrated Circuit,

Field Effect Transistor,  25K19-BL
Field Effect Transistor, 2S8K104-H
Transistor, 2SA733-P
Transistor, 2SC4568-C
Transistor, 2SCY945A-Q
Transistor, 28C1061-C .
Transistor, 2SC1096-3ZL. .
Transistor, 28C1674-L
Transistor, 2SC1676-L .
Transistor, 25C2028-8/20 ...
Transistor, 25C2029-8/10
Transistor, 2SC2076-C
Diode, 1N60-AM .
Diode,

Diode,

Diode,

Diode,

Diode, Formed
Diode, Zener,
Diode, Zener,
Diode, Zener,
Diode, Zener,
Diode, LED
Diode, Vari-Cap,

INDUCTORS

152688

LA-138.
LA-166 .

LA-182.
LA-198.

LD-012.
1m: te Bead Core, LD-087.

Ferritg Bead Core,

DESCRIPTION
FIXED RESISTORS (Continu

Resistor, Carbon, Formed VERT,
Resistor, Carbon, Formed VERT,
Resistor, Carbon, Formed VERT,
Resistor, Carbon, Formed VERT,
Resistor, Carbon, Formed VERT,
Resistor, Carbon, Formed VERT,
Resistor, Carbon, Formed VERT,
Resistor, Carbon, Formed VERT,
Resistor, Carbon, Formed VERT,
Resistor, Carbon, Formed VERT,

Resistor, Carbon, Formed VERT,
Resistor, Carbon, Formed VERT,
Resistor, Carbon, Formed VERT,
Resistor, Carbon, Formed VERT,
Resistor, Carbon, Formed VERT,
Resistor, Carbon, Formed VERT,
Resistor, Carbon, Formed VERT,
Resistor, Carbon, Formed VERT,
Resistor, Carbon, Formed VERT,
Résistor, Carbon, Formed VERT,

Resistor, Carbon, Formed VERT,
Resistor, Carbon, Formed VERT,
Resistor, Carbon, Formed VERT,
Resistor, Carbon, Formed VERT,
Resistor, Carbon, Formed VERT,
Resistor, Carbon, Formed VERT,

TA7310P, VCO TX _s_x
uPD2816C, PLL ...

LA-029.
LA-088.
T LA-106.

LA-181.

LA-201.
LA-204 .
LA-207.
LA-208.
LA-217.
LA-274.
LA-275.
LC-018 .
LC-019.

LD-088.

PWR

m>

ed)

22 ohm 1/8W
33 ohm 1/8W
47 ohm 1/8W
56 ohm 1/8W
100 ohm 1/8W
180 ohm 1/8W
220 ohm 1/8W
330 ohm 1/8W
470 ohm 1/8W
680 ohm 1/8W

1K ohm 1/8W
1.8K ohm 1/8W
2.2K ohm 1/8W
3.3K ohm 1/8W
3.9K ohm 1/8W
4.7K ohm 1/8W
5.6K ohm 1/8W
6.8K ohm 1/8W
8.2K ohm 1/8W
10K ohm 1/8W

18K ohm 1/8W
22K ohm 1/8W
33K ohm 1/8W
39K ohm 1/8W
47K ohm 1/8W
56K ohm 1/8W

Resistor, Carbon, Formed VERT, 82K ohm 1/8W
Resistor, Carbon, Formed VERT, 1M ohm 1/8W
CAPACITORS

Capacitor, Electroly 0.47uF

Capacitor, Electrolytic,
Capacitor, Electrol

Capacitor, Electroly:
Capacitor, Electrolyt
Capacitor, Electrol
Capacitor, Electrolyt
Capacitor, Electrol
Capacitor, Electrolytic,
Capacitor, Electrol
Capacitor, Electroly
Capacitor, Tantalum,
Capacitor, Tantalum,
Capacitor, Tantalum,
Capacitor, AL Solid,
Capacitor, Mylar,

Capacitor, Myalr,

DESCRIPTION
MISCELLANEOQUS {Continue

PC Board,

Iter, Ceramic,
lter, Ceramic,
Switch, Rotary,

Switch, Slide, SW-099,
Switch, Push, SW-170,
Push Button, YY-010

SP-014

Pilot Lamp, + PL-076*
Jack, SP JK-010
Connector, M Type, ANT, JK-035
Receptacle, DC Power, 3F JK-052
Jack, Microphone, JK-058
Fuse, 2A
Holder, Fuse,
Terminal, Check Point,  TP-029
AC-Power Cord,

DC Power Cord,
Insulation sheet, TR-10
Insulation sheet, TR-20
Insualtion sheet, IC-1
Insulation sheet, TR-11
_Clamper, Wire,
Clamper }#fire, -
Clamper, Lead,
Wire Connector,
Bushing, Snap-In,
Bushing, Snap-In,
Chassis, Front,

PC-453AA, SW PCB.

FS-012 .

0. 8:%

d)

“ACH UO
ANL TONE .

6%
5%
+5%
+5%.
5%
+5%
+5%
5%
5%
+5%

5%
+5%
6%
5%
6%
5%
5%
+6%
5%
5%

5%
5%
+5%
*5%
+5%
5%
5%
15%

Holder, Meter,
Cover, Top, .....

Holder, Lamp,
Chassis, e

Panel, Rear,

Cover, Bottom

Heat Sink, TR-201 .....
Heat Sink, TR-10, 13~

Holder, IC,

Holder, Transformer, ....
Bracket, Front Panel (R) ........
Bracket, Front Panel (L}
Bracket, Switch, ...
Lug Terminal, Ground,

Hanger, Mi h
Optical Filter, OS»:

Optical Filter, Oam:cm .
Panet, F -ont,

Knob, Q.... nel,

Knob,

DYNASCAN
PART NO.

307-143-9-003
307-133-9-004
307-145-9-001

182-037-9-001
182-055-9-001
177-020-9-001
176-048-9-002
176-062-9-001
172-044-9-001
172-024-9-001
176-081-9-002

.176-066-9-001
. 172-028-9-001

172-038-9-002
176-060-9-004

160-014-9-001
150-016-9-001
151-028-9-001
151-067-9-001
151-040-9-003
151-079-9-001
152-067-9-001
152-075-9-001
152-088-9-001
152-089-9-001
158-014-9-001

. 154-004-9-001

060-023-9-001
066-019-9-002

.~ 060-021-9-003

046-024-9-001
066-025-9-005
060-024-9-002
060-024-9-003

. 060-029-9-001

046-024-9-002
046-024-9-003
046-025-9-001
060-029-9-004
060-030-9-003
046-025-9-002
046-025-9-003

. 041-056-9-003
. 041-088-9-001

041-069-9-004
044-048-9-003

.. 044-051-9-001

DYNASCAN
PART NO.

002-108-5-220
002-108-5-330
002-108-6-470
002-108-5-560
002-108-56-101
002-108-5-181
002-108-5-221
002-108-5-331
002-108-5-471
002-108-5-681

002-108-5-102
002-108-5-182
002-108-5-222
002-108-5-332
002-108-5-392
002-108-5-472
002-108-5-662
002-108-5-682
002-108-5-1563
002-108-5-103

002-108-5-183
002-108-5-223
002-108-5-333
002-108-5-393
002-108-5- \Gw
002-108-5-563
002-108-5-823
002-108-5-564

022-157-9-001
022-157-9-002
022-175-8-004
022-158-9-002
022-157-9-003
022-175-9-003
022-157-9-004
022-157-9-005
022-157-9-006
022-163-9-003
022-076-9-008
022-158-9-004
022-160-9-002
022-157-9-008
022-158-9-008
027-033-9-001
027-026-9-004
027-025-9-001
022-177-9-001
025-145-9-001

420% ..... 025-145-9-002

DYNASCAN
PART NO.

302-365-9-001
140-020-9-001
140-022-9-001
083-248-9-001
084-065-9-003

.. 088-049-9-001

384-027-9-001
580-029-9-001
320-102-9-001
6562-025-9-001

.400-059-9-001

400-059-9-002
400-059-9-003
772-025-9-001
772-027-9-001
762-020-9-001
773-073-9-001
191-251-3-002
742-035-9-001
757-033-9-001

e 420-027-9-001

426-044-9-002
342-047-9-002
345-050-9-002
342-046-9-002
342-047-8-001
380-309-9-001
380-278-9-001
380-284-9-002
763-083-9-001
380-280-9-001
380-280-9-002

. 258-036-9-001 .

251-237-9-001

.. 253-071-9-001

251-238-9-001
257-107-9-001
262-021-9-001
252-029-9-001

.. 747-068-9-001

747-065-9-001
762-021-9-001"
261-173-9-003

.. 251-239-9-001

261-240-9-001
251-241-9-001

. 740-024-9-001
'741-074-9-001
.. 380-315-9-001

380-315-9-002
255-177-9-001
751-171-9-001

.... 761-095-9-002

R-8,11,22,27,51
R-24

R-204 Resistor, Carbon, Axial Lead, 680 ohm 1/8W 5% (02-108-5-681
R-203,205 Resistor, Carbon, Axial Lead, 820 ohm 1/8W 5% (02-108-5-821
R-64,202 ° Resistor, Carbon, Axial Lead, 1.2K ohm 1/8W 5% (02-1085122
R-68 Resistor, Carbon, Axial Lead, 2.2K ohm 1/8W +65%  (02-108-5-222
R-1,94 _Resistor, Carbon, Axial Lead, 2.7K ohm 1/8W 5% (02-1085-272
R-97 Resistor, Carbon, Axial Lead, 3.3K ohm 1/8W 5% (02-108-5-332
R-69,104 Resistor, Carbon, Axial Lead, 4.7K ohin 1/8W 5% (02-108-5-472
R-108 Resistor, Carbon, Axial Lead, 6.6K ohm 1/8W 5% (02-108-5-562
R-39,109 Resistor, Carbon, Axial Lead, 10K ohm 1/8W 5% (p2-108-5-103
R-21,98 Resistor, Carbon, Axial Lead, 22K chm 1/8W  %5% (002-1085-223
R-57 Resistor, Carbon, Axial Lead, 100K ohm 1/8W 5% (02-108-5-104
R-515 Resistor, Carbon, Formed VERT, 47 ohm 1/4W  #5% (02-104-5-470
R-86 Resistor, Carbon, Formed VERT, 82 ohm 1/4W  £5% (02-104-5-820
R-513 Resistor, Carbon, Formed VERT, 330 ochm 1/4W  t56% (p2-104-5-331
R-82 Resistor, Carbon, Formed VERT, 470 ohm 1/4W  £5% (02.104-5-471
R-47 Resistor, Carbon, Formed VERT, 10ohm 1/8W  £5% (02-108-5-109
R-85,99 Resistor, Carbon, Formed VERT, 100hm 1/8W  #56% (02-108-5-100
CIRCUIT DYNASCAN
SYMBOL DESCRIPTION PART NO.
CAPACITORS (Continued).
C-38 Capacitor, Mylar, 0.0033pF 50V +20%..... 025-142-9-001
C-601 Capacitor, Mylar, 0.0047yF 50V +20% 025-145-9-003
€602 Capacitor, Mylar, 0.0068uF 50V +20% 025-142-9-002
C-33,40,44,124 Capacitor, Mylar, 0.01uF 50V +20% 025-145-9-004
C-95,122 Capacitor, Mylar, 0.022uF 50V +20% 025-145-9-005
C-18,19 Capacitor, Mylar, 0.039uF 50V 420%...,. 025-145-9-006
c77 Capacitor, Semiconductor, 0.1pF 26V %% BC 020-210-9-008
C-20 Capacitor, Ceramic, 1pF 50V #0.25pF SL 020-190-9-001
C-51 Capacitor, Ceramic, 2pF 50V +0.25pF SL 020-187-9:001 .
C-80 Capacitor, Ceramic, | 8pF 50V 10.5pF SL 020-213-9-001
C-303 Capacitor, Ceramic, 22pF 50V £10% SL 020-180-9011
C-100 Capacitor, Ceramic, 39pF 50V *10% SL 020-190-9-007
Cc49 Capacitor, Ceramic, 56pF 50V +10% SL 020-196-9-004
C-52 Capacitor, Ceramic, 270pF 50V *10% SL 020-190-9-010
€-55,79,99 Capacitor, Ceramic, 100pF 50V°  £10% SL 020-180-9-016
C-8,61,107,139 Capacitor, Ceramic, 220pF 50V *10% SL 020-180-9-019
C-53,84 Capacitor, Ceramic, 330pF 50V +10% SL- 020-181-9-008

C-71,75,83,403,404,452,

453,454

C-2,5,7,9,10,11,12,13,42,

Resistor, Carbon, Axial Lead,
Resistor, Carbon, Axial Lead,

Capacitor, Ceramic,

Capacitor, Ceramic,

CIRCUIT DYNASCAN
SYMBOL DESCRIPTION PART NO.
INDUCTORS (Continued)
L-12 Cof LE-088 ... .. 041-104-9-001
L-11 Coit, LE-089 ... ... 041-104-9-002
T-301 Transformer, Power, A.TM_AW .. 065-144-9-001
T1 Transformer, Output, TF-120 . 061-041-9-001
T2 Coil AF Choke, TF-017 042-014-9-001
) SEMI-FIXED & VARIABLE RESISTORS
VR-1 Resistor, Semi-fixed, RV-189 300 ohm 008-345-9-001
VR-201 Resistor, Semi-fixed, RV-189 600 ohm 008-342-9-001
VR-4 Resistor, Semi-fixed, RV-189 20K ohm 008-316-9-003
VR-6 RV-189° 5K ohm 008-316-9-004
VR-2 Resistor, Semi-fixed, RV-189 30K ohm .008-331-9-001
VR-3 Resistor, Sei ed, RV-189 100K ohm 008-316-9-001
VR-302 Resistor, Variable, RV-320 50K ohm 008-347-9-002
VR-304. Resistor, Variable, ... 008-344-9.006
VR-303 Resistor, Varijable, RV-331 50K ohm B SQ. 008-347-9-003
VR-301 Resistor, Variable, RV-287 1K ochm B RF 008-350-9-001
FIXED RESISTORS
R-402 Resistor, Metal 2.2ohm 1W *10% 013-01 ?.w,oo._
R-93 Resistor; Metal Film, 150hm 1W 210% 013-038-9-001
R-403 Resistor, Metal 22ohm W #10% 013-011-9-002
R-112 Resistor, Metal 150 ohm 1W #10% 013°039-9-001
R-95 Resistor, Metal Film, 200 ohm  2W *10% 013-015-9-002
R-44 . Resistor, Sol 1K ohm 1/2W £10% 013-039-9-004
R-301 Resistor, Solid, 1.5M ohm 1/2W +10% 013-039-8-005
R-49 Resistor, Carbon, Axial Lead, 4.7 ohm 1/2W 6% -002-102-5-479
R-201 Resistor, Carbon, Axial Lead, 220 ohm 1/2W 6% 002-102-5-221
R-303 . Resistor, Carbon, Axial Lead, 2.2M ohm 1/2W  *5% (02-102-5-225
R-110 Resistor, Carbon, Axial Lead, 56 ohm 1/4W 5% 002-104-5-560
. R-103 Resistor, Carbon, Axial Lead, 2.2obm 1/8W 5% 002-108-5-229
R-50 Resistor, Carbon, Axjal Lead, 3.9 0hm 1/8W +5% (02-108-5-399

100 ohm 1/8W  £5% (02-108-5-101
470 ohm 1/8W  15% 002-108-5-471

0.0014F 50V *88% YF 020-190-9-012
0.01uF SOV 3% YF 020-190-9015

64,66,69,78,81,82,85,
96,97,101,102,103,105,
117,118,125,130,133,
136,140,141,143,144,

145,201,202,203,207, .

208,301,302
C-90

C-16,17,21,23,24,26,35,
66,68,111,113,119,

" Capacitor, Ceramic,

Capacitor, Ceramic,

146,147,206 .
C-104,106 Capacitor, Ceramic,
C-98,109 Capacitor, Ceramic,
C4,88 Capacitor, Ceramic,
C-50 Capacitor, Ceramic,
C-86 Capacitor, Ceramic,
c-108 Capacitor, Ceramic,
c-87 Capacitor, Ceramic,
Cc-94 Capacitor, Ceramic, .
C-451 - Capacitor, Ceramic,
C-54 Capacitor, Ceramic,

C-142,60,63,65

‘Capacitor, Ceramic,

+80

0.022uF 25V -20% ZF '020-213-9-004
0.039uF 25V *80% ZF -020-206-9-001

10pF 50V0.5pF CH 020-223-9-001
27pF 50V %10% CH 020-223-9-002
15pF 50V £10% RH 020-207-9-006
§6pF 50V *10% RH 020-208-9-002
68pF 50V #10% RH 020-196-8-001

100pF 50V *10% RH 020-204-9-010
150pF 50V %10% RH 020-207-9-008

47pF 50V 210% UJ 020:207-9-002

0.001xF 50V +10% YB. 020-210-9-007
0.0047uF S0V #20% YD 020-204-9-018
0.01pF 50V *20% YD 020-204-9-019

cc1 Capacitor Array, ~ HA-003  (0.01pFX4) .. i 527-077-9-002
CRYSTAL
X-1 Crystal, QX-074,  10.24 MHZ 132-027-9-001
MiISCELLANEOUS
PC Board, PC-407AC, Main PCB .. . 302-360-9-001
PC Board, PC-408AA, Mic Jack PCB 302-330-9-001
PC Board, PC-410AC, PWR Supply PCB... 302-361-9-001
PC Board, PC-433AA, LED PCB . 302-362-9:001
PC Board, PC-456AA, CH SW PCB, . 302-363-9-001
PC Board, PC-454AA, SP Jack PCB . 802:364-9-001
CIRCUIT DYNASCAN
- SYMBOL DESGRIPTION PART NO.

MISCELLANEOUS {Continued)

Io_amq. Lamp, RUBBER

... 251-358-9-001

Control, 600-054-9-001
1D Plate, FCC, . 600-054-9-002
Optical 380-315-9-003

Panel, Fropt
Panel, Front Display,
Protection Rubber, Front Panel
Shield Paper, ........
Wool-coated Paper,

260-172-9-001
260-173-9-001
763-121-9-001
763-121-9-002
763-121-9-003

Cushion, Meter,
Cushion, Meter,

502-113-9-004
+wv. 502-113--003

347-074-9-002

Washer, Feit, Knob,
Label, Warning, DC 00&
Label, Caution, Bottom, ..

484-035-9-001
483-337-9-001
483-337-9-002

Label, Caution, Side,
Label, Fusé Replacement;
Labet, Production Date,
Foot,

483-342-9-001
483-337-9-004
VRO 381-058-9-001

Spring Plate, _A_.,ow 763-084-9-004
Rivet, 1D Plate, . : v 133-022:8-001
Terminal, Lug, wo_mm-. 345-052-9-001
Strain Relief, . 763-111-9-002
Display Box, 500-398-9-001
Shipping Carton Box, 500-398-9-002

y Pad, 503-162-9-002
Accessories Box 500-382-9-001

Screw, Pan Hd, Plastic,

M3 x 6

634-051-9-001

Screw, Flat Hd, Ni, M3x6 ... 634-081-9-004
Screw, Bind Hd, Ni, M3x6 .. 634-053-9-001
Screw, Bind Hd, Ni, M3x8 ... 634-067-9-001
Screw, Bind Hd, M4 x 10 . 634-084-9-001°
Screw, Bind Hd, 2__ M5 x 10, 634-077-9-002

Screw, Bind Hd, Ni, m_mnx M3x8 ...
Tapping Screw mo::m Hd, ZMC, 35x 8

Tap Tight Screw, 8ind.Hd, ZMC,
Tap Tight Screw, Bind Hd, ZMC,
Tap Tight Screw, Bind Hd, ZMC,
Nut, Flange, ZMC,
Nut, Flange, ZMC,
Washer, Flat, Ni,
Washer, Lock, ZMC,
Owners Manual, ...
Schematic Diagram/!
Warranty Card,

634-111-9-001
710-020-9-001
710-021-9-004 .
710-036-9-002
710-032-9-001
653-026-9-002
653-037-9-001
724-021-9-001
731-041-9-001
480-240-9-001
488-226-9-001
491-191-9-001

M3 x6
M3x8
M3x14

Service Station oma .

FCC Application Form 505,
Temporary Permit Form 555-B,
FCC Rules Part 95, ....

492-042-0-000
492-041-9-001
492-046-9-001 N
492-047-9-001

Printed in Taiwan




